run_13051024 FGT_ADC 1,Timebin=2,Disc=1,asmb=1DA
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run_13051024 FGT_RMS_ 1,Timebin=2,Disc=1,asmb=1DA
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run_13051024 FGT_ADC 1,Timebin=2,Disc=1,asmb=1DA
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run_13051024 FGT_RMS 1, Timebin=2,Disc=1,asmb=1AB
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run_13051024 FGT_ADC_1,Timebin=2,Disc=1,asmb=1AB

Mon Feb 20 10:32:44 2012
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run_13051024 FGT_MPV_1,Timebin=2,Disc=1,asmb=1AB
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run_13051024 FGT_RMS 1, Timebin=2,Disc=1,asmb=1AB
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run_13051024 FGT_ADC 1,Timebin=2,Disc=2,asmb=2DA
Mon Feb 20 10:32:53 2012
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run_13051024 FGT_MPV_1,Timebin=2,Disc=4,asmb=4DA
Mon Feb 20 10:36:14 2012

[ADC MPV for RDO=1ARM=3,APV=5 _}

MPV (ADC-ped)

1500

1000

500 |+

-500

i i
20 20 60 80 100 120

APV channel

[ ADC MPV for RDO=1,ARM=3,APV=6 }

MPV (ADC-ped)

—
1500 [
1000 [+

500 |+

-500

I . . i . . . i . . . i . . . i . . . i . . . i
Q 20, 40 60, 80 100 120
APV channel

[ ADC MPV for RDO=1,ARM=3,APV=7 }

MPV (ADC-ped)

APV channel

MPV (ADC-ped)

1500
1000 f+

500 |-

-500

i
Q 20, 40 60, 80 100 120
APV channel

[ ADC MPV for RDO=1,ARM=3,APV=9 "}

MPV (ADC-ped)

1500 [
1000 [+

500 [+

-500

1 " " " 1 " " " 1 " " " 1 " " " Il " " " Il
20 a0 0 a0 100 120
APV channel




run_13051024 FGT_RMS_ 1,Timebin=2,Disc=4,asmb=4DA
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run_13051024 FGT_ADC_1,Timebin=2,Disc=4,asmb=4AB
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run_13051024 FGT_RMS 1, Timebin=2,Disc=4,asmb=4AB
Mon Feb 20 10:36:52 2012

[ADC RMS for RDO=1,ARM=3,APV=12__}

RMS (ADC-ped)

APV channel

[ ADC RMS for RDO=1,ARM=3,APV=13 "}

RMS (ADC-ped)

[ ADC RMS for RDO=1,ARM=3,APV=14 "}

60 |

50 f—

RMS (ADC-ped)

40

30 |
20

10

i i
100 120
APV channel

[ADC RMS for RDO=1,ARM=3,APV=15__}

60

RMS (ADC-ped)

50

40

30

20

10

° |||||||||||||| TTHHH 1‘.1".__‘%1

APV channel

| ADC RMS for RDO=1,ARM=3,APV=16 }

60

50

RMS (ADC-ped)

40

30

20

10

||||||111]IIII|IIH[£ ||||||'I11

20 40 60 80 100 120
APV channel




run_13051024 FGT_ADC_1,Timebin=2,Disc=4,asmb=4AB
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run_13051024 FGT_ADC _1,Timebin=2,Disc=1,asmb=1BC
Mon Feb 20 10:34:38 2012

[ADC for FGT RDO=2,ARM=0,APV=5 } [ ADC for FGT RDO=2,ARM=0,APV=5 |
4000
2 o
|3 g
Q
9 Q 3500
< <
3000 1
2500
2000
1500 10t
1000
. . : 500
0 102
1000 2000 3000 4000
raw ADC APV channel
[ADC for FGT RDO=2,ARM=0,APV=6 } ADC for FGT RDO
+0? = 4000 p—
B 5] = . H H 5 5 g
= = =
%) I9) =
9 9 3500 =
< < =
3000 fm— 1
2500 fm—
2000 fm/——
=
1500 f=— 10"
=
1000 P=—
=
500 f—
d . . . E o 10—2
O
e E_. . . i . . . i . . . i . . i . . . i . . . i .
3000 4000 0 20 40 60 80 100 120
raw ADC APV channel
[ADC for FGT RDO=2,ARM=0,APV=7 } [ ADC for FGT RDO=2,ARM=0,APV=7 }
40 - 4000 p—=
B g = . . . . . .
g g = 2 2 2 2 2 2
Q Q —
Q Q 3500 f=
< < =
3000 f=— 1
=
2500 =
=
2000 f=——
=
— -1
1500 fm— 10
1000 fP=——
=
500 f=— -
= 2
0 f=— 10
i i i = i i i i i i
0 1000 2000 3000 4000 20 20 60 80 100 120
raw ADC APV channel
[ADC for FGT RDO=2,ARM=0,APV=8 } [ ADC for FGT RDO=2,ARM=0,APV=8 |
- 4000 p—
5] = . . .
g = 2 2
Q 3500 F=—
< = 1
3000 f=—
2500 =
2000 f=—
= 10"
1500 f=——
1000 f=——
=
500 f[=—
= 10?
0p— 3
: = .
2 2 =
3000 4000 0
raw ADC APV channel
[ADC for FGT RDO=2,ARM=0,APV=9 }
+0? ° =
3 ] = . . . . . .
[ & =
Q Q —_ -
9 9 3500 =
< < =
3000 f=—— - | 1
2500 f=— - -
=
10 2000 f=—— - -
=
=
1500 fF=— - - 10
=
1000 p=— - -
=
500 fm— - -|
=
1 0 f=— - 10?
E_. . . i . . . i . . . i . . . i . . . i . . . i .
0 1000 2000 3000 4000 0 20 40 60 80 100 120

raw ADC APV channel




run_13051024 FGT_MPV_1,Timebin=2,Disc=1,asmb=1BC
Mon Feb 20 10:36:22 2012

[ADC MPV for RDO=2,ARM=0,APV=5__}

MPV (ADC-ped)

-500

. . ; ;
Q 20 40 60 80 100 120
APV channel

[ ADC MPV for RDO=2,ARM=0,APV=6 }

MPV (ADC-ped)

[
1500 |+

1000 [+

-500

i
120
APV channel

[ ADC MPV for RDO=2,ARM=0,APV=7 }

MPV (ADC-ped)

1500 [+
1000 [+

500 |-

-500

i i i i
20 40 60 80 100 120
APV channel

MPV (ADC-ped)

1500
1000 f+

500 |-

-500

i
20 40 60 80 100 120
APV channel

[ ADC MPV for RDO=2,ARM=0,APV=9 "}

MPV (ADC-ped)

-500

1 " " " 1 " " " 1 " " " 1 " " " 1 " " " Il " " " Il
Q 20 a0 0 a0 100 120
APV channel




run_13051024 FGT_RMS 1,Timebin=2,Disc=1,asmb=1BC
Mon Feb 20 10:36:59 2012

[CADC RMS for RDO=2,ARM=0,APV=5__}

90

80

RMS (ADC-ped)

70

60

50

40

30

=
o
.
I
=
L
o
o
n
I
=
=

20

10

oFH

. . ;
20 40 60 80 100 120
APV channel

0

[ ADC RMS for RDO=2,ARM=0,APV=6 }

RMS (ADC-ped)

1
120
APV channel

[CADC RMS for

RMS (ADC-ped)

i
120
APV channel

[CADC RMS for RDO=2,ARM=0,APV=8__}

80 F—

70

RMS (ADC-ped)

60

50

[TITTTTTT ]

40

30 |

20

10

® 120

APV channel

[[ADC RMS for

RMS (ADC-ped)

i
120
APV channel




run_13051024 FGT_ADC _1,Timebin=2,Disc=1,asmb=1CD

Mon Feb 20 10:34:43 2012

ADC for FGT RDO=2,ARM=0,APV=12 _§

3000 4000
raw ADC

1000 2000

ADC for FGT RDO=2,ARM=0APV=13 _§

o
3
[
o
a
<
10F
1
i i i
0 1000 2000 3000 4000
raw ADC
[ Apcfor Fet RDO=2 ARM=0,APV-14 |
5
3
[
o
a
<
10
1000 2000 3000 4000
raw ADC
[ ADC for FGT RDO=2,ARM=0,APV=15 |
5
3
[
)
a
<
1k 8-
Y e :
0 1000 2000 3000 4000
raw ADC
[ ADC for FGT RDO=2.ARM=0.APV=16 |
30?
3
[
o
a
<
1000 2000 3000 4000

raw ADC

[[ADC for FGT RDO=2,ARM=0,APV=12_}
4000

3500

ADC-ped

3000

2500

2000

1500

1000

500

0

APV channel

[ ADC for FGT RDO=2,ARM=0,APV=13 "}

- 4000 p—
g =
9 3500 f=—
< =
3000 f=—
2500 fm—
2000 fm/——
=
1500 f=—
=
1000 P=—
=
500 f—
=
0f=—
E_. . . i . . . i . . . i . . . i . . . i . . . i
0 20 40 60 80 100 120
APV channel
[ ADC for FGT RDO=2,ARM=0,APV=14 "}
- 4000 p—=
] = . . . . . .
g = 2 2 2 2 2 2
Q 3500 f=—
< =
3000 f=—
=
2500 =
=
2000 =
=
1500 f=——
1000 fP=——
=
500 f=—
=
[ =
= i i i i i i
20 20 60 80 100 120
APV channel
[[ADC for FGT RDO=2,ARM=0,APV=15_}
- 4000 p—
5] = . . .
oo =
Q 3500 F=— -
< =
3000 f— -
2500 =
2000 f=—- ==+
=
1500 f=—— -
1000 f=—-- - - - -
=
=
500 fpm—------
=
o
=
=
0 20 40 60 80 100 120
APV channel
| ADC for FGT RDO=2,ARM=0,APV=16 l
.- 4000
] 5 5 5 5 5 g
&
9 3500 <411
<

3000

2500

2000

1500

1000

500

0

°THI'|ITI |r|1|[|1|r|1|r|]rr|1|r|1r[|1|r|nr|

APV channel




run_13051024 FGT_MPV_1,Timebin=2,Disc=1,asmb=1CD
Mon Feb 20 10:36:23 2012

[ADC MPV for RDO=2,ARM=0,APV=12_}

MPV (ADC-ped)

-500

i i
20 20 60 80 100 120

APV channel

[ ADC MPV for RDO=2,ARM=0,APV=13 "}

MPV (ADC-ped)

[
1500 |+

1000 [+

-500

i
120
APV channel

[ ADC MPV for RDO=2,ARM=0,APV=14 "}

MPV (ADC-ped)

-500

i i i i
20 40 60 80 100 120
APV channel

MPV (ADC-ped)

-500

i
Q 20, 40 60, 80 100 120
APV channel

[ ADC MPV for RDO=2,ARM=0,APV=16 }

MPV (ADC-ped)

-500

1 1 1 1 1 Il " " " Il
Q 20 a0 0 a0 100 120
APV channel




run_13051024 FGT_RMS 1, Timebin=2,Disc=1,asmb=1CD
Mon Feb 20 10:37:00 2012

[ADC RMS for RDO=2,ARM=0,APV=12__}

400 f=

350 [=

RMS (ADC-ped)

300 E
250
200
150 p—

100 p—

so 'L -- 5 R L e Tt o e eorp - e R

0

i
120
APV channel

[ ADC RMS for RDO=2,ARM=0,APV=13 "}

60

11
AT

50

RMS (ADC-ped)

40
£ R St EEREEE § EEEE EEREY modapra
P e RECEEEEPETTRY FERE ¥ SETTRFELPRETPTEREE Y o SEEE

10

°'I'I'I'T[HH

1
120
APV channel

[ ADC RMS for RDO=2,ARM=0,APV=14 "}

|”r

60

50

RMS (ADC-ped)

CEC]

40

11T

30

20

10

°'I'ITI'[HH|IIH|

i
120
APV channel

[CADC RMS for RDO=2,ARM=0,APV=15__}

50

40 |

RMS (ADC-ped)

30
20 |

10

i
120
APV channel

| ADC RMS for RDO=2,ARM=0,APV=16 }

29 | == co0ssacasasacanad fhoscasscasssasscasacand fracacacacassaassaaasand bhossasseasesasesasasand fhocasacsasssasssasssaad bhossasseasesasesasasand fhoosaans

=

N e i e e

RMS (ADC-ped)

40

30

20

10

I

APV channel

°'H1'I'[I1'ITII'I'




run_13051024 FGT_ADC _1,Timebin=2,Disc=1,asmb=1CD
Mon Feb 20 10:34:48 2012

ADC for FGT RDO=2,ARM=0,APV=17 _§

ADC-ped

[ 1000 2000 3000 4000
raw ADC

ADC for FGT RDO=2,ARM=0APV=18 §

ADC-ped

1000 2000 3000 4000
raw ADC

[ ADC for FGT RDO=2.ARM=0.APV=19 ]
—

2

ADCApeg

i i i
1000 2000 3000 4000
raw ADC

[ ADC for FGT RDO=2,ARM=0,APV=20 |
5
3
[
)
a
<
10
1
0 1000 2000 3000 4000
raw ADC
ADC for FGT RDO=2,ARM=0,APV=21 |
o
3
[
o
a
<
10

3000 4000
raw ADC

[[ADC for FGT RDO=2,ARM=0,APV=17

= 4000 p—
] =
i =
Q 3500 f=——
< =
3000 f=—
=
2500 f=—
=
2000 f=——
=
1500 f=——
1000 f=——
=
500 fm——
=
=
==
= i i i i i i
0 20 40 60 80 100 12
APV channel
[ ADC for FGT RDO=2,ARM=0,APV=18 "}
= 4000 p—
] = 0
5 =
8 3500 === <o =
< = .
3000 f=— - - - - - o|p=odegescecssscaes =
= 8
2500 = - - - - - B R -
=
2000 = - - - - - B T -
= o
1500 f=r— |- - - - - -
= b
1000 = +{- - - - - R -
= 8
500 = -tk .- -
= L 5
Of=—------ B -k
= . . i . . i i . . . i . . . i . . . i
0 20 40 60 80 100 120
APV channel
[ ADC for FGT RDO=2,ARM=0,APV=19 }
= 4000 p=
] = . . . . . .
2 = 8 8 8 8 8 2
Q 3500 F=—
% =
3000 f=—
=
2500 =
=
2000 =
=
1500 f=——
1000 fP=——
=
500 f=—
=
=
= i i i i i i
20 40 60 80 100 120
APV channel
[[ADC for FGT RDO=2,ARM=0,APV=20 }
= 4000 p—
] = . .
g = 8 8
Q 3500 f=—| e
< =
3000 - === seleee
2500 [ P

2000

1500

1000

500

0

ADC for FGT RDO

=
=
=
e
=
=
=
—
=
=

0

4000

3500

ADC-ped

3000

2500

2000

1500

1000

500

0

40

60 80 100 120
APV channel

°THI'|ITI |r|1|[|1|r|1|r|]rr|1|r|1r[|1|r|nr|

APV channel




run_13051024 FGT_MPV_1,Timebin=2,Disc=1,asmb=1CD
Mon Feb 20 10:36:24 2012

[ADC MPV for RDO=2,ARM=0,APV=17

MPV (ADC-ped)

APV channel

[ ADC MPV for RDO=2,ARM=0,APV=18 "}

MPV (ADC-ped)

APV channel

[ ADC MPV for RDO=2,ARM=0,APV=19 |

MPV (ADC-ped)

i i i i
20 40 60 80 100 120

-500

APV channel

MPV (ADC-ped)

-500

i
20 40 60 80 100 120
APV channel

[ ADC MPV for RDO=2,ARM=0,APV=21 "}

MPV (ADC-ped)

-500

20 a0 0 a0 100 120
APV channel




run_13051024 FGT_RMS 1, Timebin=2,Disc=1,asmb=1CD
Mon Feb 20 10:37:01 2012

[ADC RMS for RDO=2,ARM=0,APV=17 _}

RMS (ADC-ped)

70

60

50

40

30

20

10

°'I11I|HI'I'|1III[T : IIH'I‘I11|HH‘|‘I1

0

APV channel

[ ADC RMS for RDO=2,ARM=0,APV=18 "}

RMS (ADC-ped)

50 f—

40

30

20

10

§jzaccooazcooazcooag el diNEE;

APV channel

[ ADC RMS for RDO=2,ARM=0,APV=19 |

RMS (ADC-ped)

APV channel

[CADC RMS for RDO=2,ARM=0,APV=20 _}

RMS (ADC-ped)

60
50 PR - -

40

30

20

10

ST e L

APV channel

[ ADC RMS for RDO=2,ARM=0,APV=21 "}

RMS (ADC-ped)

80
70
60
50
40 f=—
20 /—
20

10

0

APV channel




run_13051024 FGT_ADC _1,Timebin=2,Disc=2,asmb=2BC
Mon Feb 20 10:34:54 2012

[ADC for FGT RDO=2,ARM=1,APV=0 } [ ADC for FGT RDO=2,ARM=1,APV=0 |
= 4000 p—
5] =
i =
Q 3500 fm—
< =
3000 f=—
=
2500 f=—
=
2000 f=——
=
1500 f=——
1000 f=——
=
500 fm——
=
=
8 H H 0 f—
o i i i = i i i i i i
0 1000 2000 3000 4000 0 20 40 60 80 100 12
raw ADC APV channel
[ADC for FGT RDO=2,ARM=1,APV=1 } [ ADC for FGT RDO=2,ARM=1,APV=1 }
L - 4000 p—
3 F-- 5] = . . . . . .
2 1 g =
(8] Q —
9 9 3500 =
< < =
0.8} - 3000 f=—
2500 fm—
0.6~ - 2000 fm—
=
1500 f=—
=
1000 p=——
2 2 2 =
0.2~ - 500 =
2 2 5 =
: : [ ===
0 i i i E_. . . i . . . i . . . i . . . i . . . i . . . i
0 1000 2000 3000 4000 0 20 40 60 80 100 120
raw ADC APV channel
[ADC for FGT RDO=2,ARM=1APV=2 } [ ADC for FGT RDO=2,ARM=1,APV=2 }
L - 4000 p—=
8 qf-- g = . . . . . .
g g = 2 2 2 2 2 2
Q Q —
Q Q 3500 f=
< < =
08k - 3000 fF=—
o
2500 f=—
=
06~ 2000 fm—
=
1500 f=——
0.4f-- =
1000 fP=—
=
. . . 500 f=—
Tt : =
o o o 0 p=—
o i i i = i i i i i i
1000 2000 3000 4000 20 20 60 80 100 120
raw ADC APV channel
[ADC for FGT RDO=2,ARM=1APV=3 } [ ADC for FGT RDO=2,ARM=1,APV=3 |
- 4000 p—
5] = . . .
e = .
Q 3500 F=—
< =
3000 f=—
2500 =
2000 f=—
=
1500 f=——
1000 f=——
=
500 f[=—
=
8 . . 0 p—
2 5 =
0 1 1 1 =
0 1000 2000 3000 4000 0 20 40 60 80 100 120
raw ADC APV channel
ADC for FGT RDO=2,ARM=1,APV=4 } [ ADC for FGT RDO=2,ARM=1,APV=4 "}
L .- 4000
1 5]
2] 3
Q Q
9 9 3500
< <
0.8f-- 3000
2500
0.6~ 2000
1500
1000
500
0.2f-- - - =
H H 0
0 i i i

Il
0 1000 2000 3000 4000
raw ADC APV channel




2BC

2,asmb

In=2,Disc=
26 2012

b
36

Ime

Mon Feb 50 10

0 1]

run_13051024_ FGT_MPV_1,T

2,ARM=

APV channel
APV channel
APV channel
APV channel

120
120
120
120
120

=1 }
= |
=3 |}
= |

1,APV
1,APV
1,APV:
1,APV

2,ARM
LARM:
2,ARM
LARM

2
2

[CADC MPV for RDO

(pad-0av) AdW (pad-0av) AdiW (pad-Dav) Adi (pad-0av) AdW (pad-0av) AdiW

[ADC MPV for RDO
[ADC MPV for RDO:
[ADC MPV for RDO
[ ADC WPV for RDO

APV channel



run_13051024 FGT_RMS 1,Timebin=2,Disc=2,asmb=2BC
Mon Feb 20 10:37:03 2012

[ADC RMS for RDO=2,ARM=1,APV=0_J

RMS (ADC-ped)

1

[ ADC RMS for RDO=2,ARM=1,APV=1 }

RMS (ADC-ped)

1f

0.8

0.6

0.4

0.2

. . . . . . . . . . . . . . i . . . i
0 20 40 60 80 100 120
APV channel

[ ADC RMS for RDO=2,ARM=1,APV=2 "}

RMS (ADC-ped)

1

. . i
20 40 60 80 100 120

RMS (ADC-ped)

1
08 |-

[
06 [+

04 fr
[
02 |-
[
[
o = i i i i i
0 20 40 60 80 100 120

APV channel

[ ADC RMS for RDO=2,ARM=1,APV=4 "}

RMS (ADC-ped)

1

0.8

APV channel




run_13051024 FGT_ADC _1,Timebin=2,Disc=2,asmb=2BC

Mon Feb 20 10:34:56 2012

[ADC for FGT RDO=2,ARM=1,APV=5 }

ADC-ped

3000 4000
raw ADC

[ 1000

ADC-ped

Shill
3000 4000
raw ADC

1
0 1000 2000

[ADC for FGT RDO=2,ARM=1APV=7 }

ADC-ped

1
3000 40(
raw ADC

i i
0 1000 2000

S}

[ADC for FGT RDO=2,ARM=1,APV=8 }

ADC-ped

3000 4000
raw ADC

0 1000 2000

ADC for FGT RDO=2,ARM=1,APV=9 l

ADC-ped

3000 4000
raw ADC

[ADC for FGT RDO=2,ARM=1,APV=5_}
4000

3500

ADC-ped

3000

2500

2000

1500

1000

500

0

APV channel

[ ADC for FGT RDO=2,ARM=1,APV=6 }

= 4000 p—
5] = . . H 5 5 g
5 =
8 3500 f=——
< =
3000 f=—
2500 fm—
2000 fm/——
=
1500 f=—
=
1000 f=——
=
500 f—
=
0=
E_. . . i . . . i . . . i . . . i . . . i . . . i
0 20 40 60 80 100 120
APV channel

[ ADC for FGT RDO=2,ARM=1,APV=7 }

- 4000 p—=
] = . . . . . .
g = 2 2 2 2 2 2
Q 3500 f=—
< =
3000 f=—
=
2500 =
=
2000 =
=
1500 f=——
1000 fP=——
=
500 f=—
=
=
= i i i i i i
20 20 60 80 100 120
APV channel
[ADC for FGT RDO=2,ARM=1,APV=8 }
- 4000 p—
5] = . . .
e = .
Q 3500 F=—
< =
3000 f=—
2500 =
2000 f=—
=
1500 f=——
1000 f=——
=
=
500 f=—
=
o =
=
=
0 20 40 60 80 100 120
APV channel

[ ADC for FGT RDO=2,ARM=1,APV=9 "}
4000

3500

ADC-ped

3000

2500

2000

1500

1000
500

0

APV channel




run_13051024 FGT_MPV_1,Timebin=2,Disc=2,asmb=2BC
Mon Feb 20 10:36:26 2012

[ADC MPV for RDO=2,ARM=1,APV=5__}

MPV (ADC-ped)

L i i i
-500 Q 20 40 60 80 100 120
APV channel

[ ADC MPV for RDO=2,ARM=1,APV=6 }

L : : : : : :
1500 [l e suine s R ERERRELEELEE S ARRREREELEELEED R R RRRRREEEEE R RRARRRELEELEE R R RRRRREEEEE reenes

MPV (ADC-ped)

1000 [+

i
120
APV channel

-500

[ ADC MPV for RDO=2,ARM=1,APV=7 }

1500 [+

MPV (ADC-ped)

1000 [+

500 |-

i i i i
€Y 20 0 50 80 100 120

APV channel

1500 [+

MPV (ADC-ped)

1000 f+

500 |-

i
20 40 60 80 100 120
APV channel

-500

[ ADC MPV for RDO=2,ARM=1,APV=9 "}

MPV (ADC-ped)

1 " " " 1 " " " 1 " " " 1 " " " Il " " " Il
20 a0 0 a0 100 120
APV channel

-500




run_13051024 FGT_RMS 1,Timebin=2,Disc=2,asmb=2BC
Mon Feb 20 10:37:03 2012

[CADC RMS for RDO=2,ARM=1,APV=5__J

RMS (ADC-ped)

[ ADC RMS for RDO=2,ARM=1,APV=6 }

o =

50

RMS (ADC-ped)

40
30 [
20

10

[ ADC RMS for RDO=2,ARM=1,APV=7 }

70 |5

60

RMS (ADC-ped)

50 [
40
30 E
20 F

10

i i i i
0 20 40 60 80 100 120
APV channel

[CADC RMS for RDO=2,ARM=1,APV=8__}

5
g 90
(o]
2 80
(%]
= 70
['3
60
50
=
40

30 B/

20 B/

10

. . . ;
® 120
APV channel

[ ADC RMS for RDO=2,ARM=1,APV=9 "}

h—
100 p——
h—

RMS (ADC-ped)

APV channel




run_13051024 FGT_ADC _1,Timebin=2,Disc=2,asmb=2CD

Mon Feb 20 10:35:02 2012

ADC for FGT RDO=2,ARM=1APV=12 _§

[ 1000 2000 3000 4000

raw ADC

ADC for FGT RDO=2,ARM=1APV=13 _§

ADC-ped

=
°N

I
3000 4000
raw ADC

1 1
1000 2000

[ ADC for FGT RDO=2.ARM=1.APV=14 ]
—

3000 4000
raw ADC

i X
0 1000 2000

[ ADC for FGT RDO=2,ARM=1,APV=15

0 1000

2000

3000 4000
raw ADC

ADC for FGT RDO=2,ARM=1APV=16 _§

ADC-ped

3000 4000
raw ADC

[[ADC for FGT

RDO=2,ARM=1,APV=12 }

4000

3500

ADC-ped

3000

2500

2000

1500

1000

500

0

10

© BT R R A

APV channel

[ ADC for FGT

RDO=2,ARM=1,APV=13 }

4000

3500

ADC-ped

3000

2500

2000

1500

1000

500

0

10

A A A

" 1
20 40 60 80 100 120
APV channel

[[ADC for FGT,

RDO=2,ARM=1,APV=14 }

4000

3500

ADC-ped

3000

2500

2000

1500

1000

500

0

10°

aEldENRTERIAGNATGRAARNATRRARRIATENATENATENAG]

APV channel

[[ADC for FGT

Py
]

0=2,ARM=LAPV=15_}

4000

3500

ADC-ped

3000

2500

2000

1500

1000

500

0

1 H|'I1II'|HI'I

10

° nrl]lrn|r|1|[|1|r|1|r|]n|1

20 40 60 80 100 120
APV channel

[ ADC for FGT

RDO=2,ARM=1,APV=16 }

4000

3500

ADC-ped

3000

2500

2000

1500

1000

500

0

10

10

APV channel




run_13051024 FGT_MPV_1,Timebin=2,Disc=2,asmb=2CD
Mon Feb 20 10:36:27 2012

[ADC MPV for RDO=2,ARM=LAPV=12_}

1500 [+

MPV (ADC-ped)

1000 [5

500

i i
20 40 60 80 100 120
APV channel

-500

[ ADC MPV for RDO=2,ARM=1,APV=13 "}

L : : : : : :
1500 [l e suine s R ERERRELEELEE S ARRREREELEELEED R R RRRRREEEEE R RRARRRELEELEE R R RRRRREEEEE reenes

MPV (ADC-ped)

1000 [+ 2 : o0o505305000050505505db005052050300095053550 TR

500 |- 555005050060500000GP055300000000050903C000P00005090360050000005034 foooocooooooocoooo0cooq fFoococooooooocoooo0oo0oq foooocooooooocoooooooog fococooo

0
- i
500 120,
APV channel

[ ADC MPV for RDO=2,ARM=1,APV=14 "}

1500 [+

MPV (ADC-ped)

1000 [+

500 |-

i i i i
€Y 20 0 50 80 100 120
APV channel

1500 [+

MPV (ADC-ped)

1000 f+

i
120
APV channel

[ ADC MPV for RDO=2,ARM=1,APV=16 }

i
1500 |+

MPV (ADC-ped)

1000 [+

500 [+

1 " " " 1 " " " 1 " " " 1 " " " Il " " " Il
20 a0 0 a0 100 120
APV channel

-500




run_13051024 FGT_RMS 1, Timebin=2,Disc=2,asmb=2CD
Mon Feb 20 10:37:04 2012

[ADC RMS for RDO=2,ARM=LAPV=12__}

RMS (ADC-ped)

1

[ ADC RMS for RDO=2,ARM=1,APV=13 "}

RMS (ADC-ped)

1f

0.8

0.6

0.4

0.2

. . . . . . . . . . . . . . i . . . i
0 20 40 60 80 100 120
APV channel

[ ADC RMS for RDO=2,ARM=1,APV=14 "}

RMS (ADC-ped)

12

i i i i i i i
0 20 40 60 80 100 120
APV channel

RMS (ADC-ped)

i
120
APV channel

[ ADC RMS for RDO=2,ARM=1,APV=16 }

RMS (ADC-ped)

70

60

50

40

30

10

90 =

80 |

20

o = i . . . i . . . i . . . i . . . i . . . i
20 20 60 80 ) 120

APV channel




run_13051024 FGT_ADC _1,Timebin=2,Disc=2,asmb=2CD
Mon Feb 20 10:35:06 2012

[ ADC for FGT RDO=2 ARM=1,APV=17 | [ ADC for FGT RDO=2,ARM=1,APV=17 |
- 4000 p—
3 =
3 =
Q 3500 fm—
< =
3000 f=—
=
2500 (=—
=
2000 f=——
=
1500 f=——
1000 f=——
=
500 fm——
=
=
8 H H 0 f—
@ i i i = i i i i i i
0 1000 2000 3000 4000 0 20 20 60 80 100 12
raw ADC APV channel
[ ADC for FGT RDO=2,ARM=1,APV=18 | [ ADC for FGT RDO=2,ARM=1,APV=18 }
L - 4000 p—
g - 3 = . . . . . .
2 9 g =
(8] Q —
9 9 3500 f=
< < =
08}-- 3000 f/—
2500 fm—
06} 2000 fm—
=
1500 f=—
=
1000 p=——
2 2 2 =
02 500 =
2 2 5 =
: : ofe—
0 i i i E_. . . i . . . i . . . i . . . i . . . i . . . i
0 1000 2000 3000 4000 0 20 20 60 80 100 120
raw ADC APV channel
[ Apcfor Fet RDO=2ARM=1APV=19 | [ ADC for FGT RDO=2,ARM=1,APV=19 }
- . 4000 p=
8 qf-- 2 E . . . . . .
2 2 = 2 2 2 2 2 2
Q Q e
9 g 3500 =
< < =
osk-- 3000 =—
=
2500 f=—
=
06}-- 2000 f=—
=
1500 f=——
0.4f-- =
1000 f=—
=
. . . 500 f=—
Tt . =
o o o 0 p=—
@ i i i = i i i i i i
1000 2000 3000 4000 20 20 60 80 100 120
raw ADC APV channel
[ ADC for FGT RDO=2,ARM=1,APV=20 | [ ADC for FGT RDO=2,ARM=1,APV=20 |
- 4000 p—
] = . . .
e = .
Q 3500 f=—
< =
3000 f=—
2500 =
2000 f=—
=
1500 f=——
1000 f=——
=
500 f[=—
=
8 . . 0 p—
. 2 =
0 1 1 =
0 1000 2000 3000 4000 0 20 40 60 80 100 120
raw ADC APV channel
ADC for FGT RDO=2,ARM=1APV=21 || [ ADC for FGT RDO=2,ARM=1,APV=21 }
L - 4000
g |- 3
2] 3
%) 9]
Q Q 3500
< <
0.8f-- 3000
2500
0.6~ 2000
1500
1000
500
02+ - - =
H H 0
0 i i i
0 1000 2000 3000 4000

raw ADC APV channel




run_13051024 FGT_MPV_1,Timebin=2,Disc=2,asmb=2CD

Mon Feb 20 10:36:28 2012

[ADC MPV for RDO=2,ARM=LAPV=17 J

1500 [+

MPV (ADC-ped)

1000 [5

500

-500

[ ADC MPV for RDO=2,ARM=1,APV=18 "}

[
1500 |+

MPV (ADC-ped)

1000 [+

500 |+

-500

[ ADC MPV for RDO=2,ARM=1,APV=19 |

i i i i i i
20 40 60 80 100 120
APV channel
i
120
APV channel

1500 [+

MPV (ADC-ped)

1000 [+

500 |-

of
i i i i i i i
0Cko 20 0 50 80 100 120
APV channel
[ADC MPV for RDO=2,ARM=LAPV=20 }
5 T
3 : :
S b— :
g 1500 [+ 5
< b
> .
g :
g :
1000 f+ h
500 |-
o 5
i i i i i i i
=y Q 20, 40 60 80 100 120
APV channel

[ ADC MPV for RDO=2,ARM=1,APV=21 "}

1500 |+

MPV (ADC-ped)

1000 [+

500 [+

-500

20 a0 0 a0 100 120
APV channel




run_13051024 FGT_RMS 1, Timebin=2,Disc=2,asmb=2CD
Mon Feb 20 10:37:05 2012

[ADC RMS for RDO=2,ARM=LAPV=17 _}

RMS (ADC-ped)

1

[ ADC RMS for RDO=2,ARM=1,APV=18 "}

RMS (ADC-ped)

1f

0.8

0.6

0.4

0.2

. . . . . . . . . . . . . . i . . . i
0 20 40 60 80 100 120
APV channel

[ ADC RMS for RDO=2,ARM=1,APV=19 |

RMS (ADC-ped)

1

. . i
20 40 60 80 100 120

RMS (ADC-ped)

1
08 |-

[
06 [+

04 fr
[
02 |-
[
[
o = i i i i i
0 20 40 60 80 100 120

APV channel

[ ADC RMS for RDO=2,ARM=1,APV=21 "}

RMS (ADC-ped)

1

0.8

APV channel




run_13051024 FGT_ADC _1,Timebin=2,Disc=3,asmb=3BC

Mon Feb 20 10:35:08 2012

[ADC for FGT RDO=2,ARM=2,APV=0 }

ADC-ped

3000 4000
raw ADC

[ 1000 2000

[ADC for FGT RDO=2,ARM=2,APV=1 }

ADC-ped

St
3000 4000
raw ADC

i i
1000 2000

[ADC for FGT RDO=2,ARM=2,APV=2 }

ADC-ped

i i
2000 3000 40(
raw ADC

S}

[ADC for FGT RDO=2,ARM=2,APV=3 }

ADC-ped

1000 2000 3000 4000
raw ADC

[ADC for FGT RDO=2,ARM=2,APV=4 }

ADOpeg

e
1000 2000 3000 4000
raw ADC

[[ADC for FGT RDO=2,ARM=2,APV=0_}

= 4000 p—
] = .
& = 2
Q 3500 f=—|- o - - | - of e i
< = 8
3000 P=—|- ===} -fof -2 q -
= 8
2500 p=—|"" """ [ [~"1:1"""""" o
= 8
2000 f=—|- o= =} -fef oo a g e
= 5
1500 = |- o= == f o b f oo fid e
1000 P=r—|- A= - - f - - f 424
= 8
= 8
P70 P I A S o
= 2
= = _|+ E
o= |- t--f-f--q31-- -
= i i i i i i
0 20 40 60 80 100 12
APV channel

[ ADC for FGT RDO=2,ARM=2,APV=1 }
= 4000 p—
] = . . . . . .
5 =
8 3500 f=——
< =
3000 f=—
2500 fm—
2000 fm/——
=
1500 f=—
=
1000 f=——
=
500 f—
=
0=
E_. . . i . . . i . . . i . . . i . . . i . . . i
0 20 40 60 80 100 120
APV channel

[ ADC for FGT RDO=2,ARM=2,APV=2 "}

- 4000 p—=
] = . . . . . .
g = 2 2 2 2 2 2
Q 3500 f=— - -1
% =
3000 f=—---{-
=
2500 f=—- - - {-
=
2000 pm—---1{-
=
1500 f=—---1{-
1000 f=—---1-
=
500 f=— - - - {-
=
oE—-1-
= i i i i i i
20 20 60 80 100 120
APV channel
[ADC for FGT RDO=2,ARM=2,APV=3 }
- 4000 p—
5] = . . .
e = .
Q 3500 F=—
< =
3000 f=—
2500 =
2000 f=—
=
1500 f=——
1000 f=——
=
=
500 f=—
=
Of—=-r-memme e n
=
=
0 20 40 60 80 100 120
APV channel

[ ADC for FGT RDO=2,ARM=2,APV=4 "}

4000

3500

ADC-ped

3000

2500

2000

1500

1000

500

0

°THI'|ITI |r|1|[|1|r|1|r|]rr|1|r|1r[|1|r|nr|

APV channel




run_13051024 FGT_MPV_1,Timebin=2,Disc=3,asmb=3BC
Mon Feb 20 10:36:28 2012

[ADC MPV for RDO=2,ARM=2,APV=0_}

MPV (ADC-ped)

APV channel

[ ADC MPV for RDO=2,ARM=2,APV=1 }

MPV (ADC-ped)

—
1500 [
1000 [+

500 |+

-500

APV channel

[ ADC MPV for RDO=2,ARM=2,APV=2 }

MPV (ADC-ped)

1500 [+
1000 [+

500 |-

-500

N N i
20 40 60 80 100 120
APV channel

MPV (ADC-ped)

1500
1000 f+

500 |-

-500

i
20 40 60 80 100 120
APV channel

[ ADC MPV for RDO=2,ARM=2,APV=4 "}

MPV (ADC-ped)

-500

1 " " " 1 " " " 1 " " " 1 " " " Il " " " Il
20 a0 0 a0 100 120
APV channel




run_13051024 FGT_RMS 1,Timebin=2,Disc=3,asmb=3BC
Mon Feb 20 10:37:05 2012

[ADC RMS for RDO=2,ARM=2,APV=0__}

3 =
g 80 =
Q —
[a] —
< 70 P~
%] —
= =
x 60 =
N=
=
40 =
30
20 FH
10 %
%
[ ADC RMS for RDO=2,ARM=2,APV=1 "}
3 70 | =—=c055000000000000004p5055000000000000095054000EEEEOR000559556500hEEEE0RC00950550500000PEC0005055050000000000 P FI55000000000000050 45050000
2 =
%) L=
o —
< [0 e R R R il ity i I il b MR il 4 R
@ =
3 —
= 50 f—
Pl e e O e e e I O e o O O e - B e O I e e A ¥ e A B
30 FRHH P b e e e S P e A e e e R et A
20 el ) R O ) A Y Pt 1 AP I Al B PR S U (S I (Y 1 P A
M) | =qppocceesedpes|[peosoaponcansascssssasssssasapanadissssosssssadfpeanoscscasssssssasansascdpssasssssasasssscssdpjgpossssasansaacsessasond SSEEEEE
= a
0% 120
APV channel
[ ADC RMS for RDO=2,ARM=2,APV=2 "}
g =
& 60 [ -
a z
< =
g =t
o -
=
APV channel
[TADC RMS for RDO=2,ARM=2,APV=3__}
g =
g =
Q
[=]
< 60
%]
=
['4

50 |

40

30

20 |

10

0

i
120
APV channel

[ ADC RMS for RDO=2,ARM=2,APV=4 "}

RMS (ADC-ped)

60J—

50 |

40

30

20

10

i
120
APV channel




run_13051024 FGT_ADC _1,Timebin=2,Disc=3,asmb=3BC
Mon Feb 20 10:35:15 2012

[ADC for FGT RDO=2,ARM=2,APV=5 } [ ADC for FGT RDO=2,ARM=2,APV=5 |
= 4000 p—
5] =
i =
Q 3500 fm—
< =
3000 f=—
=
2500 f=—
=
2000 f=——
=
1500 f=——
1000 f=——
=
500 fm——
=
=
8 H H 0 f—
o i i i = i i i i i i
0 1000 2000 3000 4000 0 20 40 60 80 100 12
raw ADC APV channel
[ADC for FGT RDO=2,ARM=2,APV=6 } [ ADC for FGT RDO=2,ARM=2,APV=6 }
L - 4000 p—
3 F-- 5] = . . . . . .
2 1 g =
(8] Q —
9 9 3500 =
< < =
0.8} - 3000 f=—
2500 fm—
0.6~ - 2000 fm—
=
1500 f=—
=
1000 p=——
2 2 2 =
0.2~ - 500 =
2 2 5 =
: : [ ===
0 i i i E_. . . i . . . i . . . i . . . i . . . i . . . i
0 1000 2000 3000 4000 0 20 40 60 80 100 120
raw ADC APV channel
[ADC for FGT RDO=2,ARM=2,APV=7 } [ ADC for FGT RDO=2,ARM=2,APV=7 }
L - 4000 p—=
8 qf-- g = . . . . . .
g g = 2 2 2 2 2 2
Q Q —
Q Q 3500 f=
< < =
08k - 3000 fF=—
o
2500 f=—
=
06~ 2000 fm—
=
1500 f=——
0.4f-- =
1000 fP=—
=
. . . 500 f=—
Tt : =
o o o 0 p=—
o i i i = i i i i i i
1000 2000 3000 4000 20 20 60 80 100 120
raw ADC APV channel
[ADC for FGT RDO=2,ARM=2,APV=8 } [ ADC for FGT RDO=2,ARM=2,APV=8 |
- 4000 p—
5] = . . .
e = .
Q 3500 F=—
< =
3000 f=—
2500 =
2000 f=—
=
1500 f=——
1000 f=——
=
500 f[=—
=
8 . . 0 p—
2 5 =
0 1 1 1 =
0 1000 2000 3000 4000 0 20 40 60 80 100 120
raw ADC APV channel
ADC for FGT RDO=2,ARM=2,APV=9 } [ ADC for FGT RDO=2,ARM=2,APV=9 "}
L .- 4000
1 5]
2] 3
Q Q
9 9 3500
< <
0.8f-- 3000
2500
0.6~ 2000
1500
1000
500
0.2f-- - - =
H H 0
0 i i i

Il
0 1000 2000 3000 4000
raw ADC APV channel




3BC

3,asmb

In=2,Disc=
30 2012

b
36

Ime

Mon Feb 50 10

51

run_13051024_ FGT_MPV_1,T

2,ARM=

[CADC MPV for RDO

APV channel
APV channel
APV channel
APV channel

120
120
120
120
120

=6 .
=7}
8 ]
|

2,APV:
2,APV:
2,APV:
2,APV:

2,ARM
LARM:
2,ARM
LARM

2
2

(pad-0av) AdW (pad-0av) AdiW (pad-Dav) Adi (pad-0av) AdW (pad-0av) AdiW

[ADC MPV for RDO
[ADC MPV for RDO:
[ADC MPV for RDO
[ ADC WPV for RDO

APV channel



run_13051024 FGT_RMS 1,Timebin=2,Disc=3,asmb=3BC
Mon Feb 20 10:37:06 2012

[CADC RMS for RDO=2,ARM=2,APV=5__}

RMS (ADC-ped)

1

[ ADC RMS for RDO=2,ARM=2,APV=6 }

RMS (ADC-ped)

1f

0.8

0.6

0.4

0.2

. . . . . . . . . . . . . . i . . . i
0 20 40 60 80 100 120
APV channel

[ ADC RMS for RDO=2,ARM=2,APV=7 }

RMS (ADC-ped)

1

. . i
20 40 60 80 100 120

RMS (ADC-ped)

1
08 |-

[
06 [+

04 fr
[
02 |-
[
[
o = i i i i i
0 20 40 60 80 100 120

APV channel

[ ADC RMS for RDO=2,ARM=2,APV=9 "}

RMS (ADC-ped)

1

0.8

APV channel




run_13051024 FGT_ADC _1,Timebin=2,Disc=3,asmb=3CD

Mon Feb 20 10:35:17 2012

ADC for FGT RDO=2,ARM=2,APV=12 _§

ADC-ped

3000
raw ADC

ADC for FGT RDO=2,ARM=2,APV=13 _§

ADC-ped

4000

e
3000 40(

0
raw ADC
[ Apcfor Fet RDO=2ARM=2APV-14 |
5
3
[
o
a
<
10
i i i
1000 2000 3000 4000
raw ADC
[ ADC for FGT RDO=2,ARM=2,APV=15 |
5
3
[
)
a
<
10
3000 4000
raw ADC
[ ADC for FGT RDO=2.ARM=2.APV=16 |
30?
3
[
o
a
<
0 1000 2000 3000 4000
raw ADC

[[ADC for FGT RDO=2,ARM=2,APV=12_}

= 4000 p—
] =
& =

Q 3500 f=——
< =

3000 f=—
=

2500 f=—
=

2000 f=——
=

1500 f=——

1000 f=——
=
=

500 p=—
=
=

ofE—

= i i i i i i
0 20 40 60 80 100 120
APV channel

[ ADC for FGT RDO=2,ARM=2,APV=13 "}

= 4000 p—
5] = . . H 5 5 g
5 =
8 3500 f=——
< =
3000 f=—
2500 fm—
2000 fm/——
=
1500 f=—
=
1000 f=——
=
500 f—
=
0=
E_. . . i . . . i . . . i . . . i . . . i . . . i
0 20 40 60 80 100 120
APV channel

[ ADC for FGT RDO=2,ARM=2,APV=14 "}

- 4000 p—=
] = . . . . . .
g = 2 2 2 2 2 2
Q 3500 f=—
< =
3000 f=—
=
2500 =
=
2000 =
=
1500 f=——
1000 fP=——
=
500 f=—
=
0=
= i i i i i i
20 20 60 80 100 120
APV channel
[[ADC for FGT RDO=2,ARM=2,APV=15_}
- 4000 p—
5] = . . .
e = .
Q 3500 F=—
< =
3000 f=—
2500 =
2000 f=—
=
1500 f=——
1000 f=——
=
=
500 f=—
=
o =
=
=
0 20 40 60 80 100 120
APV channel

[ ADC for FGT RDO=2,ARM=2,APV=16 }
4000

3500

ADC-ped

3000

2500

2000

1500

1000

500

0

°THI'|ITI |r|1|[|1|r|1|r|]rr|1|r|1r[|1|r|nr|

APV channel




run_13051024 FGT_MPV_1,Timebin=2,Disc=3,asmb=3CD
Mon Feb 20 10:36:30 2012

[ADC MPV for RDO=2,ARM=2,APV=12_}

MPV (ADC-ped)

-500

L i i i
Q 20 40 60 80 100 120
APV channel

[ ADC MPV for RDO=2,ARM=2,APV=13 "}

MPV (ADC-ped)

[
1500 |+

1000 [+

-500

i
120
APV channel

[ ADC MPV for RDO=2,ARM=2,APV=14 |

MPV (ADC-ped)

1500 [+

1000 [+

-500

N N i
20 40 60 80 100 120
APV channel

[ADC MPV for RDO=2,ARM=2,APV=15_}

MPV (ADC-ped)

1500

1000

500

-500

PR -|-|-|-[1-r1-|-]-'-1-|-|-|-r-|-r1-[1-|-

i
20 40 60 80 100 120
APV channel

[ ADC MPV for RDO=2,ARM=2,APV=16 }

MPV (ADC-ped)

1500 [
1000 [+

500 [+

-500

1 " " " 1 " " " 1 " " " 1 " " " Il " " " Il
20 a0 0 a0 100 120
APV channel




run_13051024 FGT_RMS 1, Timebin=2,Disc=3,asmb=3CD

Mon Feb 20 10:37:06 2012

[ADC RMS for RDO=2,ARM=2,APV=12__}

T 90
3 =
e
o T
a) 80 |
< ]
g R
[ o=
60 FH
FH
50 P
e
40 BH
30 (5
=
20 pPm/——
10 = - -
= . 5
= i i i i i i
0 20 40 60 80 100 12
APV channel

[ ADC RMS for RDO=2,ARM=2,APV=13 "}

80

70 E

RMS (ADC-ped)

60 |
50
40 B
0 [=—
20

10 &

0

[CADC RMS for

APV channel

RMS (ADC-ped)

[CADC RMS for

APV channel

RMS (ADC-ped)

[ ADC RMS for RDO=2,ARM=2,APV=16 }

APV channel

60

50 [t

RMS (ADC-ped)

40
30
20 |

10

120
APV channel




run_13051024 FGT_ADC _1,Timebin=2,Disc=3,asmb=3CD
Mon Feb 20 10:35:23 2012

ADC for FGT RDO=2,ARM=2,APV=17__§ [ ADC for FGT RDO=2,ARM=2,APV=17 |
4000

3500

ADC-ped
ADC-ped

3000
2500
2000
1500 10°
1000

500

o 10°

1000 2000 3000 4000
raw ADC APV channel

ADC for FGT RDO=2,ARM=2,APV=18 _§ [ ADC for FGT

4000

3500

ADgped
ADC-ped

3000
2500
2000 f—
1500
1000
10
500

0

1
120
APV channel

1 I
1000 2000 3000 4000
raw ADC

[ Apcfor Fet RDO=2ARM=2APV-19 | [ ADC for FGT

4000

3500

ADC-ped
ADC-ped

3000
2500
2000
1500
1000 W

500

0

10°

i i i
1000 2000 3000 40(
raw ADC APV channel

S}

ADC for FGT RDO=2,ARM=2,APV=20

[[ADC for FGT
4000

Py
lw)
o
Tl
NS
>
Py
<
1l
NS
>
T
<
D
N
o
b

3500

ADC-ped
ADC-ped

3000

'1TP1IW1TH

2500

2000

1500 10

1000

500

o 10°

= Lboadnoadaoca

=
=3

0 1000 2000 3000 4000 20 40 60 80 120
raw ADC APV channel

° 1|r|]|r|1|r|1|[|1|r|1|r|]|||1

Py
O
O
N
p=
Py
<
N

ADC for FGT RDO=2,ARM=2,APV=21 _}| [ ADC for FGT

p=
T
<]
D
N
[
b

4000

3500

Angped
ADC-ped

3000

2500

2000

1500

1000 10

500

0

10"

© R A A A

N
N =5
IS
S
@
3
@
S
o
15}
53
e
N
5}

1000 2000 3000 4000
raw ADC APV channel



run_13051024 FGT_MPV_1,Timebin=2,Disc=3,asmb=3CD
Mon Feb 20 10:36:31 2012

[ADC MPV for RDO=2,ARM=2,APV=17 J

MPV (ADC-ped)

L i i i
-500 Q 20 40 60 80 100 120
APV channel

[ ADC MPV for RDO=2,ARM=2,APV=18 "}

L : : : : : :
1800 [ s e R R RRRRREEEEE R RRARRRELEELEE R R RRRRREEEEE reenes

MPV (ADC-ped)

1000 [+

i
120
APV channel

-500

[ ADC MPV for RDO=2,ARM=2,APV=19 |

1500 [+

MPV (ADC-ped)

1000 [+

500 |-

; ; :
€Y 20 0 50 80 100 120

APV channel

1500 [+

MPV (ADC-ped)

1000 f+

500 |-

-500
APV channel

[ ADC MPV for RDO=2,ARM=2,APV=21 "}

MPV (ADC-ped)

APV channel
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